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QUESTION 1

Which two of the following statements are true of embeddable classes? (Choose two) 

A. An embeddable class must not be used to represent the state of another embeddable class. 

B. Null comparison operations over embeddable classes are not supported in the Java Persistence query language. 

C. An embeddable class must not contain a relationship to an entity. 

D. An embeddable class can be the key of a Map relationship. 

Correct Answer: BD 

 

 

QUESTION 2

Given two entities with many-to-many bidirectional association between them: 

A. @manyToMany on the projects field, @manyToMany (mappedBy= "projects") on the emps field 

B. @manyToMany (mappedBy = emps) on the projects field, @manyToMany on the emps field 

C. @manyToMany ()targetEntity = project.class) on the projects field, @manyToMany (mappedBy = "projects") on the
emps field 

D. @manyToMany (targetEntity = Project.class) on the projects field, @manyToMany on the emps field 

Correct Answer: D 

 

 

QUESTION 3
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A developer wrote an entity class with the following method: 

Private static Logger logger = Logger.getLogger ("myLogger"); 

@PrePersist 

@PreUpdate 

Public void doA () 

{ Logger.info ("A"); 

} 

@PostPersist 

@PostUpdate 

Public void doB () 

{ logger.info ("B"); 

} 

What will the log message contain when an application does the following? 

1.

 Begins a transaction 

2.

 Creates the entity 

3.

 Persists the entity 

4.

 Commits the transaction 

5.

 Begins the entity data 

6.

 Modifies the entity data 

7.

 Merges the entity 

8.

 Commits the second transaction 
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A. A A B B 

B. A B A B 

C. A B B A B 

D. The application will throw an exception because multiple lifecycle callback annotations applied to a single method. 

Correct Answer: B 

 

 

QUESTION 4

An application uses optimistic locking by defining version attributes in its entity classes. The application performs a bulk
update of the entities using a JPQL query. Which of the following is correct? 

A. The persistence provider will ensure that the version value in each table is updated. 

B. The persistence provider will create a new transaction for the bulk update. 

C. An OptimisticLockException will be thrown by the persistence provider. 

D. The value of the Version attributes of the updated entitles should be also be explicitly updated by the query. 

Correct Answer: A 

Reference:http://en.wikibooks.org/wiki/Java_Persistence/Locking(topic: optimistic locking, second paragraph) 

 

QUESTION 5

Which statement is correct about the Java Persistence API support for the SQL queries? 

A. SQL queries are NOT allowed to use parameters. 

B. The result of an SQL query is not limited to entities. 

C. Only SELECT SQL queries are required to be supported. 

D. SQL queries are expected to be portable across databases. 

Correct Answer: B 
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